Page 4
Draft prETS 300 ???: Month YYYY


3GPP TSG-RAN2 #83bis Meeting
R2-133554
Ljubljana, Slovenia, October 7th – 11th, 2013
Agenda Item:
7.2.1
Source: 
MediaTek Inc.
Title:  
UP architecture 2
Document for:
Discussion and decision
1 Introduction
It is discussed whether UP architecture 2 need to be supported or not.
2 Discussion
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Same as architecture 1, the architecture 2 assumes bearer based load balancing, i.e. the architecture 2 gives no load balancing benefits over architecture 1. 
We assume that Arch 2A can be supported as an implementation option of arch 1, and they should thus be treated together. 

Conclusion 1: Architecture 1 and 2A should be bundled together where 2A is an implementation option of 1. 

Architecture 1 that proposes direct S1 bearers (no UP anchor point) comes with the particular benefit that it introduces no backhaul tromboning and is thus better supporting bad (long latency) backhauls. 

Conclusion 2: From characteristics point of view Architecture 1 is preferable to Architecture 2, as it better supports long latency backhauls. 
Architecture 2 introduces the same kind of backhaul tromboning as architecture 3, i.e. similar kind of drawback. However architecture 3 comes with the particular benefit that it can support load balancing of a single EPS bearer across several eNBs. 
Conclusion 3: From characteristics point of view Architecture 3 is preferable to Architecture 2, as it better supports load balancing between cells of different eNBs. 
Proposal: Do not consider Architecture 2 (i.e. 2C) for small cell

3 Conclusion
Conclusion 1: Architecture 1 and 2A should be bundled together where 2A is an implementation option of 1. 

Conclusion 2: From characteristics point of view Architecture 1 is preferable to Architecture 2, as it better supports long latency backhauls. 

Conclusion 3: From characteristics point of view Architecture 3 is preferable to Architecture 2, as it better supports load balancing between cells of different eNBs. 

Proposal: Do not consider Architecture 2 (i.e. 2C) for small cell
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